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Eight of the doctor’s potions lost theirlabels. The four growing potions and four
shrinking potions on the shelves below are the ones that lost their labels. Fill in
the labels to show the possible effects of the four growing and shrinking potions.

GROWING
POTIONS

SHRINKING
POTIONS

Identify the value of each underlined digit.

15,155

78,389

5.43 2.61

Circle each expression whose value is grea‘ter than 400.
80 x6 7 x50 70x2 | 6 x 90 4 x 60

40x 8 - 90x5 - 9x30 8x70 70x9



0 O o 00 0

X X X X X

Write each nhumber in eprnént form.

ten thousand 10

1M0x10x10x10x10x 10 ~ ten cubed

Fill in the blanks to make each statement true.

1,000 is equal to ten to the power.
1 is equal to ten to the power.
10,000,000 is equal to ten to the power.

Find the products. Complete at least three problems in the top row.

71 65 89 72 51 86
X 35 X 72 X 63 x65  x63 % 52
1 - 6 x 9 =
10 - 6 x 90 =
100 - 6 x 900 =
1,000 6 x 9,000
10,000 = 6 x 90000 =



